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Economies & Diseconomies of Scale /
Your notes

An Introduction to Economies & Diseconomies of Scale

= Asabusiness grows, it canincrease its scale of output and generate efficiencies that lowerits average
costs (cost per unit) of production
= These efficiencies are called economies of scale
= Economies of scale help large firms to lower their costs of production beyond what small firms
canachieve

= Asafirmcontinuesincreasingits scale of output, it will reach a point where its average costs (AC) will
starttoincrease
= Thereasonsfortheincreaseinthe average costs are called diseconomies of scale
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Economies of scale occur when average costs decrease with increasing output & diseconomies of
scale occur when average costs increase with increasing output
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Diagram Analysis /

= Withrelatively low levels of output, the businesses average costs are high Your notes
= Asthebusinessincreasesits output, it begins to benefit from economies of scale which lower the
average cost perunit

= At some level of output, a business will not be able to reduce costs any further - this pointis called
productive efficiency

= Beyond thislevel of output, the average cost will begin torise as aresult of diseconomies of scale

O Examiner Tip

A common error made by students is asserting that production costs will fall as output increases. This
isnot correct.

As output levelsincrease, total production costsrise but, as aresult of economies of scale and the
costs of production being spread across more units of output, the average costs of production fall.
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Internal Economies of Scale /
= Internal economies of scale occur as aresult of the growth in the scale of production within the Your notes
business

= The firm can benefit from lower average costs (AC) generated by factors from inside the business

Types of Internal Economies of Scale

Type Explanation

Financial economies = |arge firms oftenreceive lower interest rates onloans than smaller
firms as they are perceived as being less risky
= Acheaperloanlowers the cost per unit (average cost)

Managerial economies = Occurs whenlarge firms can employ specialist managers who are
more efficient at certain tasks and this efficiency lowers the average
cost (AC)

= Managersinsmall firms often have to fulfilmultiple roles and are less
specialised

Marketing economies = |arge firms spread the cost of advertising over alarge number of
sales and thisreduces the AC

= They canalso reuse marketing materials in different geographic
regions which furtherlowers the AC

Purchasing economies = Occurwhenlarge firms buy raw materials in greater volumes and
receive a bulk purchase discount which lowers the AC

Technical economies = Occurasafirmcanuseits machinery at a higherlevel of capacity due
to the increased output thereby spreading the cost of the
machinery over more units & lowering the AC

Risk bearing economies = Occurwhena firm can spread the risk of failure by increasing its
numbers of products i.e greater product diversification - less failure
lowers AC
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External Economies of Scale /
= External economies of scale occurwhen thereis anincrease in the size of the industry in which the firm Your notes
operates

= The firm canbenefit from lower average costs (AC) generated by factors outside of the business

Sources of External Economies of Scale

Geographic Cluster = Asanindustry grows, ancillary firms move closer to major
manufacturers to cut costs & generate more business

= Thislowers the AC e.g. carmanufacturersin Sunderlandrely on the
service of over 2,500 ancillary firms

Transport Links = Improved transport links develop around growing industries to help

get people towork & to improve the transport logistics

= Thislowers the AC e.g. Bangalore is known as India's Silicon Valley &
transportation projects have been successfulin transforming the
movement of people & goods

Skilled Labour = Anincreaseinskilled labour can lower the cost of skilled labour,
thereby lowering the AC

= Thelargerthe geographic cluster, the larger the pool of skilled
labour

Favourable Legislation = This often generates significant reductions in AC as governments
support certain industries to achieve their wider objectives
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Diseconomies of Scale /
= Asafirmcontinuesincreasingits scale of output, its average costs per unit will start to increase at Your notes
some point

= Thereasons fortheincrease inthe average costs perunit are called diseconomies of scale

Types of Diseconomies of Scale

= Occurwhenmanagers work more in their self interest thanin
the interest of the firm
= E.g.Managers become territorial & obstructive thus
reducing efficiency andincreasing the AC

Management Diseconomies

= Occurwhen afirm's organisational structure becomes more
complexwith multiple layers of management resulting in
communication difficulties

Communication Diseconomies

= Thisleads to slowresponses andincreased average costs

= Occurwhena firm has widespread bases of operations
across multiple geographic locations

Geographical Diseconomies

= Thisleads tologistical & communication challenges which
canraise average costs

= Occurwhen afirmexpands into foreign marketsin which
workers have very different work or productivity norms

Cultural Diseconomies

= Particularly during the early stages of expansion this leads to
production disruption which canraise the average costs
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To Grow or not to Grow?

Reasons for Growth

= Many firms start small & will grow into large companies or even multi-national corporations (Amazon

startedinagarage)

Reasons why Businesses grow

Owners or management desire to
run a large business & continually
seek togrow it

Owners desire higher levels of
market share and profitability

The desire for stronger market
power (monopoly) overits
customers and suppliers

Desire toreduce costs by
benefitting from economies of
scale

Growth provides opportunities for
product diversification

Larger firms often have easier
accessto finance

O Examiner Tip

One of the goals of growthiis to improve profitability. It'simportant to remember the distinction
between profit and profitability. Profitis the absolute amount of money a company makes, while
profitability is a measure of how efficiently a company generates profit relative toits revenue or
investment. Profitability is usually expressed as a percentage and is calculated by dividing the profit by

the revenue.
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Reasons to Remain Small

= In2021,98.9% of firms in the European Union were considered to be small firms with less than 49

employees

= Some firms start small & will grow into large companies or even multi-national corporations (Amazon

startedinagarage)

= While many firms grow, others do not or they intentionally choose to remain small

Reasons why Small Firms Exist

They offer amore personalised
service and focus on building
relationships with their customers
(excellent customer service)

They are unable to access finance
for expansion

They provide a product thatisina
niche market - smaller market size
but can be very profitable

By remaining small, there is a high
ability to respond quickly to
changing customer
needs/preferences

Rapid growth can cause
diseconomies of scale which can
be difficult to deal with and so
many owners choose to avoid
these

Owners goalis not profit
maximisation but ratheran
acceptable quality of life
(satisficing)

= Many changesintechnology favourlarge scale operations but others can work to the advantage of

small firms

= Thelnternet offerslow cost access to market formany firms

= Moderntechnology canwork in favour of the small-scale and personalised businesses rather than the

mass produced and impersonal
= Niche markets can be targeted profitably by small firms that have relatively small overheads and
do not need to achieve the volume of sales required by larger competitors
= Thisis especially true where technology reduces the cost differential between the mass

produced and the niche product

An Evaluation of Remaining Small

Advantages

Disadvantages

= Small firms often provide highly customised
goods/services e.g. pet groomingin the

= Small firms are more susceptible to changesin
the wider economy than large firms, especially
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customer'shome duringrecessions ‘,
= They often create personal relationships with = | essfinancial resources available to them, Your notes
their customers which helps to generate including access to larger bankloans - some
customerloyalty and word-of-mouth smaller firms are unable to access any loans at all
advertising
= |tishardertorecruit/retain staff as the wage &
= They often provide very unique products which non-wage benefits are less competitive than
are soldin small quantities at high prices - this those offered by bigger firms

canbe very profitable

= Owners may struggle to take a holiday/sick

= Smaller firms canrespond quickly to changing leave asrevenue slows/stops comingin when
market conditions they stop working

= Small firms struggle to generate economies of
scale as the volume of output is significantly
lower than that of larger firms resulting in lower
profit margins

O Examiner Tip

Do not focus too much on making ajudgement about whether businesses are better big or small.
Businesses of all sizes can - and do - succeed.

Itis more important consider whether the size of the business allows it to achieve its mission and
whether other factors such asits culture and organisational structure contribute toits success.
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Internal (organic) & External (inorganic) Growth

= The growth of firms can be internal (organic) or external (inorganic)

= Internal growthis usually generated by

= Gaining greater market share

= Productdive

rsification

= Opening anew store

= |nternational

expansion

= |nvestingin new technology/production machinery

= External growth usually takes place when firms merge in one of three ways
= Verticalintegration (forward or backwards)
= Horizontal integration
= Conglomerate integration

o

-»

SUPPLIER

MANUFACTURER

DISTRIBUTOR

RETAILER

END
CONSUMER

A diagram that illustrates how a firm can grow through forward or backward vertical integration

= Forward vertical integration involves a merger or takeover with a firm further forward in the supply

chain

= E.g.Adairy farmermerges with anice-cream manufacturer

= Backward vertical integrationinvolves a merger/takeover with a firm further backward in the supply

chain

= E.g.Anice-creamretailertakes overanice-cream manufacturer
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The Advantages & Disadvantages of Internal Growth

= Firms will often grow internally (organically) to the point where they are in a financial position to
integrate with others

= Integration speeds up growth but also creates new challenges

The Advantages & Disadvantages of Internal Growth

= The pace of growthis manageable = The pace of growth can be slow & frustrating

= Lessrisky as growthis financed by profits & = Not necessarily able to benefit from economies
thereis expertise in the industry of scale

= Avoids diseconomies of scale = Accessto finance may be limited

= The management know & understand every part
of the business
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Mergers & Acquisitions (M&As) & Takeovers

= Amergerisamutual agreement between two ormore businesses to join together as a single business
= |In2022 Mojand MX Takatak, India's two leading video-sharing platforms merged, combining 300
million monthly active users with the aim of becoming a serious competitor to China's Tiktok
= The Walt Disney Company and 21st Century Fox merged in 2018 to gain a higher market value and
share (the new company achieved a market share greaterthan 90%)

= Anacquisition occurs when one company takes complete control over another by acquiring more
than 50 per cent of its share capital
= Afriendly takeoveris where acquisition has the approval and support of the directors of the

target company

= In2014 Facebook acquired mobile messaging company Whatsapp for around $19 billion with
a shared mission to 'bring more connectivity and utility to the world by delivering core services
efficiently and affordably’

= Ahostile takeover occurs against the will of the target company's board of directors
= The USfood giant Kraft completedits hostile takeover of Cadbury Plcin 2010 by increasingits
initial bid to shareholders by over $3 billion

An Explanation of the Advantages & Disadvantages of Each Type of Growth

Type of Growth

Advantages

Disadvantages

Vertical Integration
(Inorganic growth)

Reduces the cost of production as
middle man profits are eliminated

Lower costs make the firm more
competitive

Greater control over the supply chain
reducesrisk as access to raw materials is
more certain

Quality of raw materials can be controlled
Forwardintegration adds additional
profit as the profits from the next stage of
production are assimilated
Forwardintegration canincrease brand
visibility

Diseconomies of scale occur as
costsincrease e.g. unnecessary
duplication of managementroles
There can be a culture clash
between the two firms that have
merged

Possibly little expertise in running
the new firmresultsin
inefficiencies

The price paid for the new firm
may take alongtime torecoup

Horizontal
Integration
(Inorganic growth)

Rapidincrease of market share
Reductionsinthe cost perunit due to
economies of scale

Reduces competition

Diseconomies of scale may
occurascostsincreasee.g.
unnecessary duplication of
managementroles
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Existing knowledge of the industry means
the mergeris more likely to be successful
Firm may gain new knowledge or
expertise

There canbe a culture clash
between the two firms that have
merged

Conglomerate
Integration
(Inorganic growth)

Reduces overallrisk of business failure
Increased size & connectionsin new
industries opens up new opportunities
for growth

Parts of the new business may be sold for
profit as they are duplicated in other parts
of the conglomerate

Possible lack of expertise in new
products/industries
Diseconomies of scale can
quickly develop

Usually resultsinjob losses
Worker dissatisfaction due to
unhappiness at the takeover can
reduce productivity
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Joint Ventures ,

= Ajoint venture is when two businesses join together to share their knowledge, resources and skills to Your notes
form a separate business entity for a specified period of time
= E.g.The mobile network EE is a joint venture formed by the French mobile network, Orange and the
German mobile network, T-Mobile
= Businesses may choose ajoint venture to reach a new market as it may be more cost effective than
exporting, licensing and franchising

SPREADING RISK

ENTERING NEW MARKETS/
TRADE BLOCS

ACCESSING NATIONAL/
INTERNATIONAL BRAND
NAMES AND PATENTS

REASONS FOR :
JOINT VENTURES

SECURING RESOURCES/
SUPPLIES

MAINTAINING/INCREASING
GLOBAL COMPETITIVENESS

Key reasons for global mergers and joint ventures
Spreading Risk

= Businesses operating in different markets spreads the risks associated with fluctuating economic
conditions

= |fthereis aneconomic downturnin one market, they may still gain sales in another market thatis
less affected

Entering new markets/trading blocs

= Entering a market using ajoint venture is a quicker method than using organic growth
= |nemerging economies, many governmentsinisist that foreign businesses can only operate as ajoint
venture as this can benefit domestic businesses

= Forming ajoint venture with alocal company allows the joining business to gain knowledge and
business of the local markets
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Accessing national/international brand names/patents

= Apatentis thelegal right given by the government to anindividual or business to make, use or sell an
invention and exclude others from doing so
= The process of developingintellectual property can be along and expensive process
= Workinginajoint venture may allow a businesses can use to get access tointellectual property ora
business with a strong reputation

Securing resources/supplies

= Businesses can create joint ventures with another business which have access toresources e.g land
and raw materials
= This allows business to quickly gain access to resources which helps to speed up the production
process
= Businesses have to be aware of any ethical issues concerning the resources as this can damage the
reputation of the business e.g. perhaps being unaware that the company they are joining with uses
child labour

Maintaining/increasing global competitiveness

= Businesses canincrease their global dominance by working in a joint venture with another business
= By expandingin this way, even for a short period, a business can benefit from economies of scale which
leads to lower costs
= Businesses canreduce prices which canincrease sales, leading to a higher market share

The Advantages & Disadvantages of Joint Ventures

Advantages Disadvantages

= Economies of scale gained from costs spread = |najointventure both businesses have asayin

over larger output canlead toincreased profit decision-making
margins = This shared control canlead to conflict
especially if the partners have different
= Bothbusinessesretain their own identity as the management styles or strategic goals
jointventureis set up as a separate business for
alimited period of time = Reaching agreement may require extensive
= Whenthe joint venture comes to anendthe negotiations which can slow down the decision-
partners continue to operate their original making process

businesses as before
= Sharing sensitive information such as trade

= Opportunity to enter new markets which secrets canbe aconcernif the partners are
otherwise may be closed to the business competitors
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= Jointventures ofteninvolve the exchange of
technology, expertise, or specialised
knowledge
= This can enhance the capabilities of the
venture and provide access to new
opportunities

= Aculture clash between the two businesses can
affect the quality of the business, leading to
poorsales

= Jointventure partners share both profits and
costs
= [|f one partner contributes more resources
or effort than the other there may be
disagreements about the distribution of
profits leading to conflicts
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Franchising /

= Franchisingis a business model where an individual (franchisee) buys the rights to operate a business Your notes
model, use its branding and software tools and receive support from alarger company (franchisor) in
exchange for aninitial lump sum plus ongoing fees

= Franchisingis a popularway to achieve rapid global growth
= Thefranchisee operates the business under the franchisor's established system and receives training,

marketing support, access to software and other systems and ongoing assistance
= Examples of global franchises include Domino's Pizza, KFC and Burger King
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Some of the many food franchises available

= Thefranchise modelis a popular strategy for growing a business, offering both advantages and
disadvantages to the business owners

The Advantages & Disadvantages of Growth Generated by the Franchise Model
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Rapid Expansion: Franchising allows for
accelerated growth compared to traditional
expansion methods

Capital Injection: Franchisees typically invest
theirown money to set up and operate their
franchise units

= Thisrelieves the franchisor from the burden
of funding the expansion, reducing financial
strain onthe parent company

Local Expertise: Franchisees are oftenlocal
entrepreneurs who possess in-depth
knowledge of their markets

Motivated Operators: Franchisees are more
likely to be highly motivated and dedicated to
ensuring their business thrives, as their financial
successis directly linked to the performance of
their franchise

Brand Recognition: With each new franchise
unit, the brand's visibility and presence
increases

Loss of Control: Franchisinginvolves granting a
degree of control to franchisees and this may
lead to variance in product standardisation and
quality

Shared Profits: Franchisees typically pay
ongoingroyalties to the franchisor, reducing the
overall profit margin for both parties and for the
franchisorit limits the potential earnings
compared to fully owned units

Reputation Risks: The actions of individual
franchisees canimpact the overall brand
reputation

= Asingle poorly managed or customer
service failure at a franchise location can
have a negative impact on the entire
franchise network

Initial Investment and Support Costs: The
franchisor must invest in establishing and
maintaining a comprehensive franchise support
system

= Thisincludes developing training programs,
operational manuals, and ongoing
assistance to ensure consistent quality
across franchise units

Legal and Regulatory Compliance: Franchising
involves navigating complexlegal frameworks,
including franchise disclosure documents,
contracts, and compliance with franchise
regulations
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O Examiner Tip /

o . N . . , Your notes
Afranchiseis not a form of business ownership - itis an alternative to starting up a brand new business

from scratch.

In most cases franchisors require businesses to operate as private limited companies as this
ownership type is considered to have more stability than sole traders or partnerships.
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Strategic Alliances /

= Strategic alliance agreements are similar to joint ventures Your notes
= Businesses collaborate fora period of time to achieve a specified goal
= They agree to work together for their mutual benefit
= Resources are often shared

The Main Differences Between Joint Ventures & Strategic Alliances

The Nature of the = Ajointventure involves the creation of a new legal entity by two or
Relationship more businesses

= Astrategic alliance is a cooperative arrangement between two or more
companies without the formation of a new legal entity

Ownership & Control = [najointventure the participating companies jointly own and control
the new entity

= |nastrategic alliance each participating company retains its ownership
and control and makes its own decisions

Duration = Jointventures are oftenintended to be long-term or permanent
collaborations
= Eachcompany make significantinvestments and commitments to
the joint venture with the expectation that shared operations will be
ongoing
= Strategic alliances canvary in duration
= They are generally formed for a specific project and canbe
terminated once the agreed-upon goals are achieved

Scope = Joint ventures usually have abroad scope of collaboration
= Strategic alliances are usually focused on a specific area of
cooperation
= Companiesjoinforces to pursue a particular goal such as entering
anew market or conducting research and development
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